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100 Questions

Que. 1 Read the passage given below and answer the following questions. Some words have been
highlighted in the passage for your attention.

The future is about access, anywhere learning and collaboration, both locally and globally. Teaching and learning
are going to be social and interactive. Schools of the future could have a traditional cohort of students, as well as
online-only students who live across the country or even the world. Things are already starting to move this way
with the emergence of massive open online courses (MOOCs).
The future of technology in education is the cloud.
Schools will only need one major thing to be prepared for the future. They will not need software installed,
servers or local file storage. Schools will need a fast-robust internet connection. Infrastructure is paramount to
the future of technology in education.
Teachers can use the cloud to set, collect and grade work online. Students will have instant access to grades,
comments and work via a computer, smartphone or tablet. This is where devices come in. All devices no matter
which ones we will use in the future will need to access the cloud. Each student will have their own. Either a
device specified by the school or one they have chosen to bring in themselves.
School classrooms are going to change. With the cloud, the world will be our classroom. E-learning will change
teaching and learning. Students can learn from anywhere and teachers can teach from anywhere.
The cloud can also encourage independent learning. Teachers could adopt a flipped classroom approach more
often. Students will take ownership of their own learning. Teachers can put resources online for students to use.
These could be videos, documents, audio podcasts or interactive images. All these resources can be accessed via
a student's computer, smartphone or tablet. As long as they have an internet connection either via Wi-Fi, 3G, or
4G they are good to go.
Rather than being 'taught' students can learn independently and in their own way. There is also a massive amount
of resources online that students can find and use themselves, without the help of the teacher.
This, of course, means the role of the teacher will change.
What we must remember is that when schools adopt new technology and services, they must be evaluated. This
way, as a school, you know if they are successful and what improvements are needed. Staff will also need
training; you can't expect staff to use new technology if they are not confident users or creators. Any initiative is
doomed to failure without well trained, confident staff who can see how technology can support and benefit
teaching and learning.
Plenty of schools have already embraced this, but there's still a long way to go to ensure all schools are ready for
the future of technology. It is time for all schools to embrace the cloud.

What does the author mean by the sentence, "The future of technology in education is the cloud."?

Correct Option - 1

Cloud computing will change the nature of education. 1.
The education sector will be terribly hit by the monsoon.2.
The education sector is facing some dark times.3.
The education sector has come up with huge plans that might not come true.4.
None of these.5.

Que. 2 According to the passage, which of the following statements is true?

Education in the future will be more accessible locally and globally. 1.



Correct Option - 5

Teaching and learning will become more social and interactive.2.
Schools in future will have students who attend phsically and online students spread all over the world3.
Massive open online courses are the first step in this change.4.
All of these.5.

Que. 3 What, according to the passage, might be the reason that might lead the doom of this initiative?

Correct Option - 3

The lack of servers and other facilities might hinder the success of this change.1.
There are people resisting this change in favor of the older model of education.2.
An ill-trained and under-confident staff of teachers who do not see the benefits of online education.3.
None of these.4.
All of these.5.

Que. 4 Give a suitable title to the passage.

Correct Option - 1

Cloud computing: The new era of global education1.
Training the future teachers2.
Advantages of cloud computing in education3.
Served by servers: An online approach to education4.
Education in the cloud.5.

Que. 5 How are the school classrooms going to change?

Correct Option - 4

The classrooms will span all over the world because of internet.1.
The students will be able to learn from anywhere in the world.2.
Teachers will be able to teach from anywhere in the world.3.
1, 2, and 3.4.
None of the above.5.

Que. 6 Choose a suitable antonym for the given word.
MASSIVE

Puny1.
Humungous2.
Medium3.
Elaborate4.
None of the above5.



Correct Option - 1

Que. 7 Choose a suitable synonym for the given word.
ENSURE

Correct Option - 2

Pressure1.
Assure2.
Lure3.
Procure4.
None of the above5.

Que. 8 Choose a suitable synonym for the given word.
ADOPT

Correct Option - 2

Deny1.
Accept2.
Affect3.
Attempt4.
​None of the above5.

Que. 9 Fill in the blank with the appropriate word. 
He is one of the best and ________________ teachers that the school ever had. 

Correct Option - 2

great1.
most hard-working2.
more hard-working3.
hard-working4.
None of the above.5.

Que. 10 Fill in the blank with the appropriate word. 
No ______________ than fifty girls took part in the dance competition for the University's anniversary

celebration. 

lesser1.
less2.
fewer3.
below4.
None of the above5.



Correct Option - 3

Que. 11 Fill in the blank with the appropriate word. 
Before long, we will all be old and realize that health is ________________ to wealth. 

Correct Option - 1

Preferable1.
More preferable2.
The most preferable3.
Much preferable4.
None of the above.5.

Que. 12 Fill in the blank with the appropriate word. 
I think that the _______________ the sweetest of all flowers.  

Correct Option - 3

Rose was1.
Roses are 2.
Rose is3.
Roses were 4.
Roses have been5.

Que. 13 Fill in the blank with the appropriate word.
Reputation was the one thing that she _______________ without merit and lost without fault.

Correct Option - 3

Left1.
Given2.
Got3.
Taken4.
Accepted5.

Que. 14 Read the sentence to find out whether there is an error in it or not. The error, if any, will be in
one part of the sentence. The number of that part is the answer. If there is no error, the answer is

(5). Ignore errors of punctuation, if any.
The aforementioned position (1)/ was to be close for the (2)/ candidates possessing a (3)/ score of 160 or lower.
(4)/ No error 5)

11.
22.
33.
44.



Correct Option - 2

No Error5.

Que. 15 Read the sentence to find out whether there is an error in it or not. The error, if any, will be in
one part of the sentence. The number of that part is the answer. If there is no error, the answer is

(5). Ignore errors of punctuation, if any.
The cold mist have (1) /   engulfed the entire town (2) /  as if reclaimed in (3) /  its own parallel dimension. (4)/ 

Correct Option - 1

11.
22.
33.
44.
No Error5.

Que. 16 Read the sentence to find out whether there is an error in it or not. The error, if any, will be in
one part of the sentence. The number of that part is the answer. If there is no error, the answer is

(5). Ignore errors of punctuation, if any.
Try hard as he might, (1) / Alvira knew her brother (2) / could never hoped to (3) / regain his health. (4) /

Correct Option - 3

11.
22.
33.
44.
No Error5.

Que. 17 In the following question, one part of the sentence may have an error. Find out which part of the
sentence has an error and click the option corresponding to it. If the sentence is free from error,

click the 'No error' option.
Little does the King  (1) / know that an evil plan  (2) / was already being hatched in his  (3) / palace at that
moment. (4)

Correct Option - 1

11.
22.
33.
44.
No error5.

Que. 18 Read the sentence to find out whether there is an error in it or not. The error, if any, will be in
one part of the sentence. The number of that part is the answer. If there is no error, the answer is

(5). Ignore errors of punctuation, if any.



He was aware (1)/  that the oath he (2)/  had taken was soon to (3)/  be proven to disastrous.(4) / No error (5)

Correct Option - 4

11.
22.
33.
44.
No Error5.

Que. 19 Read the sentence to find out whether there is an error in it or not. The error, if any, will be in
one part of the sentence. The number of that part is the answer. If there is no error, the answer is

(5). Ignore errors of punctuation, if any.
Had they had seen (1)/ us misappropriate their (2)/ belongings they would (3)/ have been enraged. (4) 

Correct Option - 1

11.
22.
33.
44.
No error5.

Que. 20 Read the sentence to find out whether there is an error in it or not. The error, if any, will be in
one part of the sentence. The number of that part is the answer. If there is no error, the answer is

(5). Ignore errors of punctuation, if any.
The raging storm (1) / followed the man, (2) / inevitable swallowing up (3)  / everything in its path. (4) 

Correct Option - 3

11.
22.
33.
44.
No error5.

Que. 21 Read the sentence to find out whether there is any error in it or not. The error, if any, will be in
one part of the sentence. The number of that part is the answer. If there is no error, the answer is

(5). Ignore errors of punctuation, if any.
The actual legal (1)/ responsibilities may vary (2)/ among jurisdictions and (3)/ are seldom if never clear.(4)

11.
22.
33.
44.
No error5.



Correct Option - 4

Que. 22 Read the sentence to find out whether there is any error in it or not. The error, if any, will be in
one part of the sentence. The number of that part is the answer. If there is no error, the answer is

(5). Ignore errors of punctuation, if any.
Had Rekha not (1)/ discouraged me I may  (2)/ have sung a song or  (3) /two at your wedding.  (4)/

Correct Option - 2

11.
22.
33.
44.
No Error5.

Que. 23 Read the sentence to find out whether there is any error in it or not. The error, if any, will be in
one part of the sentence. The number of that part is the answer. If there is no error, the answer is

(5). Ignore errors of punctuation, if any.
If we have players like / (1) Ronaldo in our team, we / (2) would have qualified for / (3) the FIFA World
Cup long ago. / (4)

Correct Option - 1

11.
22.
33.
44.
No error5.

Que. 24 Rearrange the following sentences/group of sentences (A), (B), (C), (D), (E) and in the proper
sequence to form a meaningful paragraph then answer the question given below.

A. But she was brutally snapped out of her daydreams when the boss asked her to work for some more hours
after the closing time.
B. All she wanted to do was go home and snuggle in her bed with a hot mug of cocoa.
C. It had been a long tiring week for Daisy.
D. She was angry at her for asking her to stay back.
E. It was a Friday so everyone else had gone back home, and she felt so alone and tired and frustrated.

Which of the following would be the SECOND sentence after rearrangement?     

A1.
B2.
C3.
D4.
E5.



Correct Option - 2

Que. 25 Which of the following would be the FIRST sentence after rearrangement?     

Correct Option - 2

A1.
C2.
D3.
B4.
E5.

Que. 26 Which of the following would be the THIRD sentence after rearrangement?     

Correct Option - 1

A1.
C2.
B3.
D4.
E5.

Que. 27 Which of the following would be the FIFTH sentence after rearrangement?     

Correct Option - 4

A1.
C2.
B3.
E4.
D5.

Que. 28 Which of the following would be the FOURTH sentence after rearrangement?     

Correct Option - 3

A1.
B2.
D3.
C4.
E5.

Que. 29 In the following sentence, four words or phrases have been printed in bold. One bold part of the
sentence is not acceptable in Standard English. Pick up that part and mark its number. If there

are no errors in the bold parts, mark (E) i.e. No error as the answer.
The prince(1) was taken(2) aback but he didn't dare(3) to enrage(4) his father.



Correct Option - 5

11.
22.
33.
44.
No error5.

Que. 30 In the following sentence, four words or phrases have been printed in bold. One bold part of the
sentence is not acceptable in Standard English. Pick up that part and mark its number. If there

are no errors in the bold parts, mark (E) i.e. No error as the answer.
As per the reports, the financial (1) strain faced by the campany (2) is just a temporary phase (3) and the
company is likely to prosper (4) shortly.

Correct Option - 2

11.
22.
33.
44.
No error5.

Que. 31 What should come in place of the question mark (?) in the following question?
34500 ÷ 460 ÷ 25 =?

Correct Option - 2

8001.
32.
23.53.
0.334.
None of these5.

Que. 32 What should come in place of the question mark (?) in the following question?

199 + 53 ÷ 4 × 42 =?

Correct Option - 5

9691.
6552.
9663.
7994.
None of these5.

Que. 33 What value should come in place of question mark (?) in the following question?



196 + 42 × 11 – 171 = ?

Correct Option - 2

4231.
4872.
4273.
4214.
None of these5.

Que. 34 What will come in the place of the question mark ‘?’ in the following question?

Correct Option - 2

2 × 2 ÷ 6 =? − 1
1

9

2

19

2

3

1

2

1. 1
5

6

2. 2
1

6

3. 3
1

2

4. 2
1

2

5. 2 5

6

Que. 35 What will come in place of question mark ‘?’ in the following question?

Correct Option - 2

15 + {(2 × 5 ) ÷ (6 × 2 )} = ?4

7

4

2

2

9

4

7

1531.
129/82.
160/83.
65/44.
145/85.

Que. 36 What should come in place of question mark (?) in the following question?
46 + 25% of (? + 1289) = 1340

Correct Option - 2

38801.
38872.
83873.
37784.
None of these5.

Que. 37 What should come in place of question mark (?) in the following question?



36% of 450 + ?% of 350 = 463

Correct Option - 3

981.
1002.
863.
764.
None of these5.

Que. 38 What should come in place of the question mark (?) in the following question?
15 × 184 + 27 – 59 = ? + 156/12

Correct Option - 3

21751.
25172.
27153.
30004.
25005.

Que. 39 What should come in place of question mark (?) in the following questions?
3780 ÷ 14 × 15 + 340 = ?

Correct Option - 4

35001.
45802.
35253.
43904.
54005.

Que. 40 What should come in place of question mark (?) in the following given question?
55 + 8 × 0.75 – 12 = ?

Correct Option - 3

221.
362.
493.
564.
None of these5.

Que. 41 In each of these questions, two equations are given. You need to solve these equations and find out the
value of x and y and give an answer

I) x2 – 7x + 12 = 0



II) y2 + y – 30 = 0

Correct Option - 5

if x > y1.
if x ≥ y2.
if x < y3.
x ≤ y4.
x = y or the relationship cannot be established5.

Que. 42 In each of these questions, two equations are given. You need to solve these equations and find out the
value of x and y and give an answer

I) 2x2 + 15x + 13 = 0

II) y2 - 7y + 12 = 0

Correct Option - 3

If x > y1.
If x ≥ y2.
If x < y3.
If x ≤ y4.
If x = y or the relationship can not be established5.

Que. 43 In each of these questions, two equations are given. You need to solve these equations and find out the
value of x and y and give an answer

I) x2 – 16x + 63 = 0

II) y2 – 44y + 84 = 0

Correct Option - 5

if x < y1.
if x ≤ y2.
if x > y3.
if x ≥ y4.
if x = y or the relationship can not be established5.

Que. 44 In each of these questions, two equations are given. You need to solve these equations and find out the
value of x and y and give an answer

I) x2 + 16x + 48 = 0

II) y2 + 21y + 38 = 0

if x > y1.
if x ≥ y2.
if x < y3.
if x ≤ y4.



Correct Option - 5

if x = y or the relationship cannot be established.5.

Que. 45 In the following question, two equations are given. You need to solve these equations and find out the
value of x and y and give an answer

x2 + 3x + 2 = 0

y2 + 3y − 4 = 0

Correct Option - 4

x ≤ y1.
x > y2.
x < y3.
x = y or no relation is obtained4.
x ≥ y5.

Que. 46 Directions: Read the bar graph carefully and answer the given questions.

Total number of books read by Sachin and Mridul in both the years is how much more or less than the total
number of books read by Praveen and Vishnu in both the years?

Correct Option - 1

30 More1.
30 Less2.
50 More3.
50 Less4.
None of the above5.

Que. 47 What is the sum of all the books read by all of them in both the years ?

4701.
4502.



Correct Option - 1

5003.
4904.
4605.

Que. 48 Books read by Praveen in the year 2015 is what percent more or less than the number of books read by
Mridul in the year 2015 ?

Correct Option - 3

15%1.
10%2.
12.5%3.
40%4.
20%5.

Que. 49 What is the average of total number of books read by all of them in the year 2016?

Correct Option - 2

501.
602.
403.
454.
555.

Que. 50 Find the ratio of sum of number of books read by Vishnu and Mridul together in 2015 to the sum of
number of books read by Sachin and Praveen together in 2015.

Correct Option - 1

13 ∶ 101.
6 ∶ 52.
3 ∶ 43.
5 ∶ 34.
7 ∶ 55.

Que. 51 An amount is to be distributed among Abhishek and Pritha in the ratio of 5: 7. If Abhishek gets Rs.
2000 less than Pritha, then find the Abhishek’s share.

30001.
50002.
60003.
70004.
40005.



Correct Option - 2

Que. 52 A white car running at a speed of 72 km/hr is approaching a black car at a speed of 54 km/hr from a
distance of 32 m behind. In how much time will it cross the black car?

Correct Option - 4

3.6 sec.1.
4.8 sec.2.
5.5 sec.3.
6.4 sec.4.
7.2 sec.5.

Que. 53 At what per cent above the cost price must Atul mark his goods so that he gains 20% after giving a
discount of 25% ?

Correct Option - 5

48%1.
35%2.
49%3.
32%4.
None of these5.

Que. 54 A boat takes 6 hours less to travel a distance downstream than to travel the same distance upstream. If
the speed of the boat in still water is 9 km/hr and speed of stream is 3 km/hr, Find the total distance

covered by the boat.

Correct Option - 2

150 km1.
144 km2.
140 km3.
134 km4.
None of these5.

Que. 55 The ratio of the A's present age and B's age 4 years ago is 7 : 8. After 8 years, ratio of age of A to that
of B is 9 : 11. Find the present age of B.

Correct Option - 1

36 years1.
23 years2.
24 years3.
25 years4.
26 years5.



Que. 56 In a 40 lt mixture of milk and water, the ratio of milk and water is 4 : 1. If 20 lt of the mixture was
taken out and 10 liters of water is added. Find the quantity of water in the new mixture.

Correct Option - 3

261.
242.
143.
154.
None of these5.

Que. 57 A and B entered into a partnership with capital in the ratio of 5 : 6. After 6 months, C joined the
business with half of the capital than B. If at the end of the year, the share of A in total profit is Rs.

2400, then find the total profit earned by C.

Correct Option - 1

Rs. 7201.
Rs. 28802.
Rs. 9603.
Rs. 11204.
 None of these5.

Que. 58 The difference between the Compound Interest on a certain sum of money at 20% for second year and
first year is Rs. 1200. Find the sum.

Correct Option - 2

Rs. 250001.
Rs. 300002.
Rs. 500003.
Rs. 50004.
None of these5.

Que. 59 The average age of 18 people is 25 years. After including 3 more persons, the average age is increased
by 3 years. Find the average age of 3 new persons?

Correct Option - 3

42 years1.
48 years2.
46 years3.
54 years4.
36 years5.

Que. 60



The length and the breadth of a rectangle is in the ratio of 2:3. If the area of the rectangle is 96cm2 . Find its
perimeter.

Correct Option - 2

24 cm1.
40 cm2.
160 cm3.
56 cm4.
None of these5.

Que. 61 Find the missing number in the series
2.5, 5, 15, 60, ?, 1800

Correct Option - 4

1801.
2202.
4203.
3004.
None of these5.

Que. 62 Find the missing number in the series
4, 3, 4, 9, 32, ?

Correct Option - 4

2051.
1652.
1753.
1554.
1455.

Que. 63 Find the missing number in the series
343, 729, 1331, 2197, ?

Correct Option - 4

27251.
22502.
30253.
33754.
31255.

Que. 64 Find the missing number in the series



 100,150, 300, 750, ?

Correct Option - 2

15001.
22502.
30003.
20004.
18005.

Que. 65 Find the missing number in the series
55, 50, ?, 25, 5, -20

Correct Option - 1

401.
352.
303.
454.
505.

Que. 66 Direction: Read the information carefully and answer the question given below.
Eight people P, Q, R, S, T, U, V and W are sitting around a circular table. All are facing towards the

center but not necessarily in the same order.
Only two people sit between P and R. S sits immediate right of R. Three people sit between S and T. Two people
sits between V and U. Q sits second to the left of U. W sits immediate left of V.
What is the position of S with respect to U?

Correct Option - 3

Third to the right1.
Second to the left2.
Third to the left3.
Second to the right4.
Can't be determined5.

Que. 67 Who sits fourth to the right of W?

Correct Option - 4

P1.
S2.
R3.
Q4.
None of these5.

Que. 68 Who sits second to the left of V?



Correct Option - 3

R1.
Q2.
T3.
U4.
S5.

Que. 69 Choose the one which is different from other options?

Correct Option - 3

PT1.
TV2.
VW3.
PS4.
QR5.

Que. 70 Directions: Read the following information carefully and answer the questions which follow:
Point B is 6 m to the west of point A. Point C is 4 m to the north of point B. Point G is between point B

and point C. Point H is 12 m to the south of point C. Point D is 3 m to the west of point C and point F is 4 m to
the south of point D. Point E is 3 m to the east of point H.

What is the shortest distance between F and E?

Correct Option - 2

8 m1.
10 m2.
12 m3.
√88 m 4.

None of these5.

Que. 71 Which is the odd one out?

Correct Option - 1

F1.
C2.
G3.
H4.
None of these5.

Que. 72 What is the direction of D with respect to A?



Correct Option - 4

East1.
North-east2.
South-west3.
North-west4.
South-east5.

Que. 73 Study the following information carefully and answer the questions following it.
Certain people are seating in a single row facing north.

A is sitting in third place form the right end. There are 2 people between A and C. There is one person between C
and D. E is to the second left of D. H is to the fifth right of C. A is exactly sitting between B and F who is to the
right of A. G is to the second left of J who is to the second left of I who is an immediate neighbor of B.

Who is sitting at the extreme ends?

Correct Option - 3

G, D1.
B, E2.
E, H3.
A, B4.
C, I5.

Que. 74 What is the position of D with respect to H?

Correct Option - 2

Third to the right1.
Seventh to the left2.
Sixth to the left3.
Third to the left4.
Can't be determined5.

Que. 75 How many people are sitting between C and F?

Correct Option - 3

51.
42.
33.
24.
15.

Que. 76 Which of the following statements is true?

C and B are neighbours.1.



Correct Option - 2

There is one person between B and F.2.
J is at one extreme end.3.
H is two people away from D.4.
B is exactly between C and I.5.

Que. 77 Who is sitting exactly between G and I?

Correct Option - 2

E1.
J2.
D3.
C4.
B5.

Que. 78 Direction: In the question below are given some statements followed by some conclusions. You have
to take the given statements to be true even if they seem to be at variance with commonly known facts.

Read all the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.
Statements:
All apps are fan.
Some apps are grey.
Conclusions:
I. Very few fans are grey.
II. No fan is grey.

Correct Option - 1

Only I follows1.
Only II follows2.
Either I or II follows3.
Neither I nor II follows4.
Both I and II follow5.

Que. 79 Statements:
No plate is cat.

All vans are plates.
Conclusion:
I. Some cats are plates.
II. No van is cat.
III. Some plates are vans.

Only I and II follows1.



Correct Option - 5

Only III follows2.
Only I follows3.
Only II follows4.
Only II and III follow5.

Que. 80  
Statements:

All mangoes are figs.
Some figs are skies.
No bat is mango.
Conclusions:
I. Some figs are mangoes.
II. Some skies are bats.
III. Some skies being mangoes is a possibility.

Correct Option - 5

Only I follows1.
Only II and III follow2.
All follow3.
Only II follows4.
Only I and III follow5.

Que. 81 Statements:
All phones are caps.

No cap is a map.
Some maps are boats.
Conclusions:
I. No cap is a boat.
II. Some boats being phones is a possibility.

Correct Option - 2

Only I follows1.
Only II follows2.
Either I or II follows3.
Neither I nor II follows4.
Both I and II follow5.

Que. 82 Directions: Study the following information and answer the given questions.
Ten persons are sitting in two parallel rows containing five people each, in such a way that there is

equal distance between adjacent persons. In row 1 – A, B, C, D and E are seated (but not necessarily in the same



order) and all of them are facing North. In row 2 – L, M, N, O and P are seated (but not necessarily in the same
order) and all of them are facing South. In the given seating arrangement each member seated in a row faces
another member of the other row. B sits second to the right of D who is sitting in the middle of the row. The
person facing B sits to the immediate left of N. L sits second to the right of N. Only two persons sit between L
and P. E is not an immediate neighbour of D. O does not face E. C is not facing N.

Which of the following statement is true regarding O?

Correct Option - 3

L sits to the immediate left of O.1.
Only three persons sit between P and O.2.
O sits exactly in the middle of the row.3.
O faces one of the immediate neighbors of B.4.
None of the given statement is true.5.

Que. 83 Who among the following is facing A?

Correct Option - 5

L1.
M2.
O3.
P4.
N5.

Que. 84 Who amongst the following is facing M?

Correct Option - 1

E1.
A2.
D3.
B4.
C5.

Que. 85 Four of the following five are alike in a certain way based on the given arrangement and hence form a
group. Which is the one that does not belong to the group?

Correct Option - 4

NO1.
CE2.
AB3.
PO4.
ML5.



Que. 86 What is the position of C with respect to B?

Correct Option - 2

Second to the left1.
Third to the left2.
Immediate left3.
Immediate right4.
Second to the right5.

Que. 87 Directions: Study the following information carefully to answer the given questions:
# 6 B G @ I L 7 3 H A % © D F K E 8 J Q 1 * V T U 2 $ W

How many such symbols are there in the above arrangement each of which is immediately followed by a
consonant but not preceded by another symbol?

Correct Option - 3

None1.
One2.
Two3.
Three4.
Four5.

Que. 88 Four of the following five are alike in a certain way based on the positions of their elements in the
above arrangement and so form a group. Which is the one that does not belong to the group?

Correct Option - 1

IL@1.
AH%2.
KFE3.
QJ14.
V * T5.

Que. 89 If all the numbers are dropped from the above arrangement which element will be fifth to the left of
eleventh from the left?

Correct Option - 5

I1.
H2.
T3.
*4.
None of these5.

Que. 90 In the following question, select the related letters from the given alternatives.
B G : L 7 : : A % : ?



Correct Option - 4

EK1.
DF2.
KF3.
FK4.
None of these5.

Que. 91 How many such vowels are there in the above arrangement each of which is immediately followed by
a symbol and also immediately preceded by a consonant?

Correct Option - 2

None1.
One2.
Two3.
Three4.
Four5.

Que. 92 If it is possible to make a meaningful word from second, fourth, fifth, sixth and seventh letters of the
word ACKNOWLEDGE, then which will be the first letter of that word? Mark X if no such word can

be formed and M if more than one such word can be formed.

Correct Option - 2

N1.
C2.
L3.
X4.
M5.

Que. 93 Study the following information to answer the given questions.
Seven persons: A, B, C, D, E, F, and G purchased some items one after another i.e., eraser, pen, TV,

printer, mouse, mug, and phone but not necessary in the same order.
A purchased a mouse and there is a gap of 2 persons between A and E. 
E didn’t come first or at last. 
As many persons came after A are the same as the number of persons who came before F who purchased the pen.
C purchased an eraser immediately before A.
There is a gap of 4 persons between E and G who purchased a printer.
D purchased a phone immediately before E who purchased a TV.
The mug is purchased by B.

Who purchased the pen?

B1.
C2.



Correct Option - 5

D3.
E4.
F5.

Que. 94 There is a gap of how many persons between F and G?

Correct Option - 3

41.
12.
33.
24.
55.

Que. 95 Which item has been purchased just before mug?

Correct Option - 2

Printer1.
Mouse2.
Phone3.
TV4.
Eraser5.

Que. 96 Which item was purchased at last?

Correct Option - 1

Printer1.
Mug2.
Mouse3.
Eraser4.
TV5.

Que. 97 Who came just before F to purchase?

Correct Option - 5

A1.
B2.
C3.
D4.
E5.



Que. 98 Directions: In the following question assuming the given statements to be True, find which of the
given conclusion is/are definitely true and then give your answers accordingly.

Statements:
B > C; C ≥ D = E; G ≤ H < E ≥ I = F
Conclusions:
I. F ≤ C
II. B > H

Correct Option - 3

Only I is True1.
Only II is True2.
Both I and II are True3.
Either I or II is True4.
Neither I nor II is True5.

Que. 99 Directions: In the following question assuming the given statements to be True, find which of the
given conclusion is/are definitely true and then give your answers accordingly.

Statements:
P = Q; Q ≥ R; R < S; T > P; S ≤ U
Conclusions:
I. T > R
II. R < U

Correct Option - 3

Only I is True1.
Only II is True2.
Both I and II are True3.
Either I or II is True4.
Neither I nor II is True5.

Que. 100 Directions: In the following question assuming the given statements to be True, find which of the
conclusion among given conclusions is/are definitely follows the statement and then give your

answers accordingly.
Statements : V ≥ W; X > Y; V ≥ Z; W ≥ X
Conclusions :
I. X > Z
II. Z > W
III. W > Y

Only conclusion I follows1.
Only conclusion II follows2.
Only conclusion III follows3.
Only conclusion I and II follow4.



Correct Option - 3

Only conclusion I and III follow5.
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